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yrecalcdusy  Unit 5 Notes—Law of Cosinesy and Areav of av Triangle

The Law of Cosines—used when given 3 sides OR 2 sides and an included angle (SSS or SAS)
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Examplel Solve AABC: a=10,b=11,andc=17
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Example2 Solve AABC: A=35°,b=43,andc= 19 A= 34°
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Example3 A girl is flying two kites at the same time. If the strings are 200 ft and 230 ft long, and the kites are 110 ft
apart, what angle do the strings in her hand make?
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Example 4 To find the distance across a small lake, a surveyor has taken the measurements shown. Find the distance
across the lake using this information.
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2.5 miles

35.3 miles
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Example 5 Find the area of a triangle with sides of length 5 and 12 apd included angle 40°.
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Area of a triangle
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. Example 6 Find the area of triangle ABC to the nearest thousandth if ¢ =3.2, A = 16°, and B=31°.
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Heron's Formula

Let a, b and c be the sides of AABC, let s denote the semiperimeter (a + b +¢)/2.
Then the area of AABC is given by Area = Js(s—a)(s — b)(s—¢)

Example 7 Find the area of triangle ABC to the nearest hundredth ifa=2,b=7, and c = 8.
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Example 8 Find the area of an isosceles triangle with a perimeter of 39 and a base of length 17 inches.
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